
Moun�ng screws X6

(PUSH TAB)

Cutout mm:225X112

        

STS-215 Desktop sockets

Soft pop up

1.Product parts drawing (See Pic 1.1)

(1.1).120type sockets 

        

244mm

118

225mm

108

3.Opening hole size (See Pic 3.1)         

1
1
8

m
m

1
0
8

m
m

7mm

4.1. Remove the 12mm insula�on layer from the end of the l, N 
and E, then insert to the corresponding connec�on hole and 
screw it in .
4.2. Place the bo�om box in a well-cut wooden board; 
4.3. Fix the seat body to the bo�om box with 4 x M3 screws; 
4.4. The installa�on is completed.

(1.5).Cover

(1.2). Push Bu�on

(1.3).Bo�om box

(1.4).M3 pan head screw X4

2.Outline dimension (See Pic 2.1)

265 

1
1

8

7
.3

0

6
5

 

108 222

265 

1
1

8

7
.3

0

6
5

 

108 222

∅30

(1.6.)Knock holeX2

(1.7).Fixed block

(1.8).M4 pan head screw X10

4.1. First fixed product screws loose, the product from 
top to bottom separation.
4.2. Remove the 12mm insulating layer from the ends of 
L, N and E, and then pass through the hole in the bottom 
box (1.6) to insert the corresponding connection hole 
and tighten it.
4.2. Place the bottom box (1.3) on a cut board;
4.3. The mounting bracket is fixed on the table plate and 
the bottom box with 4 x M4 (1.8) screws;
4.4. Fixed the seat body on the bottom box with 4 x M3 
(1.4) screws; 
4.5. Installation complete.

4.installa�on steps  

(Pic 4.1)

(Pic 4.3)

(Pic 4.5)

(Pic 2.1)

(Pic 1.1)

Table top

(Pic 3.1)

(Pic 4.4)

Screws

Metal clipScrews

User Manual

Fixed
block

Press plate

Screws

Bo�om box

A.Remove the power module and the low 
voltage module one by one; Put the power 
cable and the low voltage cable through 
the wire hole of bo�om box separately; 
Then inset the metal clip and fasten the 
screws; (Ref.Pic 4.1) 

D. A d j u st t h e d e g re e o f � g ht n e s s o f a l l l i n e ( n o i n fl u e n c e o n 
opening),install press plate, and lock it �ghtly with screws.(Ref.Pic 4.4) 
E.Assembling the product into the moun�ng hole on the table top, and 
press the bo�om side of table top with fixed blocks (one piece each for 
right and le�), fasten screws. (Ref.Pic 4.5) 

B. Also connect a grounding wire to the grounding terminal on the 
bo�om box, check the connec�ons.Adjus�ng the wires length, then 
�ghten the �e wrap and shave the superabundance length of 
wrap.(Ref.Pic 4.2)
C.Please make the fixed hole for sockets structure at the same line with 
the bo�om box, and fasten the 4 screws which fixed the bo�om box. 
(Ref.Pic 4.3)

(Pic 4.2)

Earth wrie
Tie wrap

Low voltage
cable

Power 
cable


	页 1

